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KEY
Precalc 5.1A:Using Identities
Obj: To apply the fundamental trig identities to simplify trig
expressions;
Hwk: 5.1A #15-19, 21-25, 27-35 (odds), 39, 41, 43,
Check answersl!!

Do Now:
Look at the graphs of the sine, cosine and tangent functions.
Which functions are even? Odd?
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Fundamental Trig Identities

Reciprocal Identities

sin@ = cscl cscd = sinf
cos= sect secd= cosé
1 1
tan@ = -y cotl = Py
Six reciprocal identities
Quotient Identities Pythagorean Identities
tan g <S¢ sin® @ +cos” 6 =1
cosé | ) .
l+tan” @ =sec” @
cosd
cotld = — ) )
sin & 1+cot"@=csc™ 4
Two Quotient 1dentities Three Pythagorean Identities

sin® @+cos* @ =1
+an%o + | = Sec?6
sin“ @ +cos* 9 =1

[ + Cot*®= (sc?e
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Fundamental Trig Identities

Cofunction Identities ¥ Cofunchions add fo qo* ( Compkementwy
angles )

sin(%—e = (050 CSC(%_9J= 5eceo

cos( 2-0)= 56 s(Z-6)- esco

tan[%—e = (oto cot(%—ﬁ): T™ané

Six Cofunction 1dentities

Even/Odd Identities

obp | sin(-u)==Sinm csc(-u)= 0S¢ LA
Fven | ©os(-#)= eosu sec(-u)= Seeu

tan(—u)==1anNuU cot(—u)=-Cot
obD

Six Even/Odd 1dentities
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Use the Fundamental Trig identities to simplify the expression:

1) sec@cotd 2) sinfcscl
L. 650 L .esco = eseo [
(50 3inp  5ind (508 ¢s08
= [CsCO
3) tan&cosd 4) cot@sind
3i08 . ¢p50 = [3jpe (059 . 5tno - |cose
Cos® Sim 1
* - 2 2 2
5) (l—sm x)(sec x) 6) (l—cos x)(cscx)
Pythagorean T aentity Pythagorean ro/eﬂﬁu/y
5in26 1€65%6 =/ 5in32e +Co5% =/
o526 = |- 5/0°6 5/n26 = (-CO5*6
(S/n2x) (CsCx) =
Cos 2X (.sec*x) =
( ) sin*x . L— = sipxx
Cos*X . ('QG‘X / Srax Sinx
=S¥
smx cos(Jé sin x ) 8) csc(—p)sin f
sinx(Cos*x -\ sin@® = b
CUI‘GCF 4 . 202
hjﬂﬂz%f wr - Z"j ’3’7 Sint-8) Sin(-8)
anse Eggfe-f ——$:'n28 | ¥ Even/obd Fdenhty
= 5in X (=5in x) - 506 -
- Sin3X | ~Siné
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Use the Fundamental Trig identities to simplify the expression:

Sing
Sin2 y _ l—COSzﬂ tanZ ¢ m
9 1-cosy oY 10) sec? ¢ 4
Pythagorean To entivy Cos?
5/n28 +Cos5%6 =/ .
S/n2e = (-CO5*6 - Sing. 05Y - Sind
(] + Cosy)!( l;cofa_) Cosp ]
o (1-Los9)
= |l +C0o5Y9
11) cscOtan & +sec 12) cos Scot f+sin f
L (28 \ 4 seco SB[ cosb inB
= (5:‘,99')( 0059) 5 - 0 ﬁ(.j—'r_l%ﬂ) 2
_ 4 _ 2 . _
- Cos6 N Cos® - C&S._P 4+ SinB . 5:00
Siné Sin8
- _ 4 B
) cf;fe ) Q(CoSe) = Cos*8 , sinth
5)”6 5,‘0 ﬁ
= Sechd

=“Cos 28 +5inxb _  _I_
S5/inb Sin B
¥ Pythagorean T dentity

= |05¢c 8B
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YO LUl siocrs
Use the Fundamental Trig identities to simplify the expression:

csc’ 61
13) cos fsec fB 14) —c
0056. —L' - _CL.'SB - ’ Vg Z)L 1M A AnCean - ,__,:;3'_’,; 7{\""?"1;4?
CosB (osp X Pythagorean Tdentiy
) +C6728 = €sc?®
Co7 28 = &se?8 —
tan¢ C*ZQ = |Cot O
15) cosg sin ¢ Cot @
0
— CosaS( 335%)
Sin@
= CosD . Sind, L
Cosp SN0
=)
Recap:

Basic ideas: ***Have your formulas out when doing cw/hw!***
1. Look for identities with same functions and substitute
2. Factor if necessary
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